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Abortion_to_sowherd2[parity](t) = Abortion_to_sowherd2[parity](t - dt) +

(Abortion_delay1[parity] - to_Abortion[parity] - Abortion_to_sowherd[parity]) * dt
INIT Abortion_to_sowherd2[parity] = O

INFLOWS:

Abortion_delay1[parity] = to_Abortion_delay[parity]

OUTFLOWS:

to_Abortion[parity] =
IF(Leakage_2_rate<0.045)THEN(Abortion_delay1[parity]*Normal_abortion_cull)ELSE(A

bortion_delay1[parity]*Shock_abortion_cull)

Abortion_to_sowherd[parity] = DELAY ((Abortion_delay1 [parity]-

to_Abortion[parity]),5,0)

Boar_11_wk(t) = Boar_11_wk(t - dt) + (to_Boar_11_wk - to_Boar_12_wk -

to_Cull_boarl) * dt

INIT Boar_11_wk = 123.77,123.77,123.77,123.77,123.77,123.77,123.77
TRANSIT TIME = 7
INFLOW LIMIT = INF
CAPACITY = INF

INFLOWS:

to_Boar_11_wk = Wean_pool*(1-Sex_ratio_Gilt_per_Boar)
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OUTFLOWS:

to_Boar_12_wk = CONVEYOR OUTFLOW

to_Cull_boarl = LEAKAGE OUTFLOW

LEAKAGE FRACTION = 0.0225
NO-LEAK ZONE = 0

Boar_12_wk(t) = Boar_12_wk(t - dt) + (to_Boar_12_wk - Boar_to_fattening -

to_Boar_grading) * dt
INIT Boar_12_wk = 120.99
INFLOWS:
to_Boar_12_wk = CONVEYOR OUTFLOW
OUTFLOWS:
Boar_to_fattening = Boar_12_wk*0.90
to_Boar_grading = Boar_1 2_wk*0.10
Boar_23_wks(t) = Boar_23_wks(t - dt) + (to_Boar_grading - to_boar_24_wk) * dt
INIT Boar_23_wks = 12.1,12.1,12.1,12.1,12.1,12.1,12.1,12.1,12.1,12.1,12.1
TRANSIT TIME = 11
INFLOW LIMIT = INF
CAPACITY = INF
INFLOWS:
to_Boar_grading = Boar_12_wk*0.10

OUTFLOWS:



to_boar_24_wk = CONVEYOR OUTFLOW

Boar_24_wk(t) = Boar_24_wk(t - dt) + (to_boar_24_wk - Boar_to_fattening_50% -

Boar_for_sale_30% - Replacement_boar_20%) * dt

INIT Boar_24 wk =12.1

INFLOWS:

to_boar_24_wk = CONVEYOR OUTFLOW

OUTFLOWS:

Boar_to_fattening_50% = (Boar_24_wk)*(0.5-0.1204)
Boar_for_sale_30% = (Boar_24_wk)*(0.3-0.07227)
Replacement_boar_20% = (Boar_24_wk)*(0.2+0.07227+0.12045105)

Boar_26_wk(t) = Boar_26_wk(t - dt) + (Replacement_boar_20% - to_Cull_boar2 -

to_Boar_44_wk) * dt
INIT Boar_26_wk = 4.75,4.75
TRANSIT TIME = 2
INFLOW LIMIT = INF
CAPACITY = INF
INFLOWS:
Replacement_boar_20% = (Boar_24_wk)*(0.2+0.07227+0.12045105)
OUTFLOWS:

to_Cull_boar2 = LEAKAGE OUTFLOW
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LEAKAGE FRACTION = (0.275/(100-

(2.25+0.2+2.35+0.7227+1.2045+0.4818)))
NO-LEAK ZONE =0
to_Boar_44 wk = CONVEYOR OUTFLOW
Boar_44_wk(t) = Boar_44_wk(t - dt) + (to_Boar_44_wk - Boar_to_replacement) * dt

INIT Boar_44_wk =
4.74,4.74,4.74,4.74,4.74,4.74,4.74,4.74,4.74,4.74,4.74,4.74,4.74,4.74,4.74,4.7

4,4.74,4.74
TRANSIT TIME = 18
INFLOW LIMIT = INF
CAPACITY = INF
INFLOWS:
‘to_Boar_44_wk = CONVEYOR OUTFLOW
OUTFLOWS:
Boar_to_replacement = CONVEYOR OUTFLOW

Bomn_alive[parity0](t) = Born_alive[parity0](t - dt) + (to_Born_alive[parity0] -

Pre_wean_death[parity0] - to_Wean_pool[parity0]) * dt
INIT Born_alive[parity0] = 67.59,67.59,67.59
TRANSIT TIME = 3
INFLOW LIMIT = INF

CAPACITY = INF



Born_alive[parity1](t) = Born_alive[parity1](t - dt) + (to_Born_alive[parityl] -

Pre_wean_death[parity1] - to_Wean_pool[parity1l]) * dt
INIT Born_alive[parityl] = 48.86,48.86,48.86
TRANSIT TIME = 3
INFLOW LIMIT = INF
CAPACITY = INF

Born_alive[parity2](t) = Born_alive[parity2](t - dt) + (to_Bomn_alive[parity2] -

Pre_wean_death[parity2] - to_Wean_pool[parity2]) * dt
INIT Born_alive[parity2] = 41.33,41.33,41.33
TRANSIT TIME = 3
INFLOW LIMIT = INF
CAPACITY = INF

Born_alive[parity3](t) = Born_alive[parity3](t - dt) + (to_Born_alive[parity3] -

Pre_wean_death[parity3] - to_Wean_pool[parity3]) * dt
INIT Born_alive[parity3] = 34.35,34.35,34.35
TRANSIT TIME = 3

INFLOW LIMIT = INF

-8 <

CAPACITY = INF

Born_alive[parity4](t) = Born_alive[parity4](t - dt) + (to_Bomn_alive[parity4] -

Pre_wean_death[parity4] - to_Wean_pool[parity4]) * dt

INIT Born_alive[parity4] = 26.14,26.14,26.14
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TRANSIT TIME = 3
INFLOW LIMIT = INF
CAPACITY = INF

Born_alive[parity5](t) = Born_alive[parity5](t - dt) + (to_Born_alive[parity5] -

Pre_wean_death[parity5] - to_Wean_pool[parity5]) * dt
INIT Born_alive[parity5] = 19.47,19.47,19.47
TRANSIT TIME = 3
INFLOW LIMIT = INF
CAPACITY = INF

Born_alive[parity6](t) = Born_alive[parity6](t - dt) + (to_Bom_alive[parity6] -

Pre_wean_death[parity6] - to_Wean_pool[parity6]) * dt
INIT Born_alive[parity6] = 14.9,14.9,14.9

TRANSIT TIME = 3

INFLOW LIMIT = INF

CAPACITY = INF

Born_alive[parity7](t) = Born_alive[parity7](t - dt) + (to_Bomn_alive[parity7] -

Pre_wean_death[parity7] - to_Wean_pool[parity7]) * dt
INIT Born alive[parity7] = 10.61,10.61,10.61
TRANSIT TIME = 3
INFLOW LIMIT = INF

CAPACITY = INF
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Born_alive[parity8](t) = Born_alive[parity8](t - dt) + (to_Born_alive[parity8] -

Pre_wean_death[parity8] - to_Wean_pool[parity8]) * dt

INIT Born_alive[parity8] = 2.92,2.92,2.92
TRANSIT TIME = 3
INFLOW LIMIT = INF
CAPACITY = INF

INFLOWS:

to_Born_alive[parity] = Delivered_sow[parity]*NBA parity]

OUTFLOWS:

Pre_wean_death[parity] = LEAKAGE OUTFLOW
LEAKAGE FRACTION = Prewean_death_rate
NO-LEAK ZONE = 0

to_Wean_pool[parity] = CONVEYOR OUTFLOW

Dry_sow[parity0](t) = Dry_sow[parityO](t - dt) + (to_Dry_sow[parity0] -
Dry_sow_to_sowherd[parity0] - to_Cull_dry_sow[parity0]) * dt

INIT Dry_sow[parityO] = 6.93

Dry_sow[parity1](t) = Dry_sow[parity1](t - dt) + (to_Dry_sow[parityl] -

Dry_sowe to=sowherd[parityl] - to_Cull_dry_sow[parity1]) * dt
INIT Dry_sow([parityl] = 4.61

Dry_sow/[parity2](t) = Dry_sow[parity2](t - dt) + (to_Dry_sow[parity2] -
Dry_sow_to_sowherd[parity2] - to_Cull_dry_sow[parity2]) * dt
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INIT Dry_sow|[parity2] = 3.78

Dry_sow[parity3](t) = Dry_sow[parity3](t - dt) + (to_Dry_sow[parity3] -

Dry_sow_to_sowherd[parity3] - to_Cull_dry_sow[parity3]) * dt
INIT Dry_sow|[parity3] = 3.09

Dry_sow[parity4](t) = Dry_sow[parity4](t - dt) + (to_Dry_sow[parity4] -

Dry_sow_to_sowherd[parity4] - to_Cull_dry_sow[parity4]) * dt
INIT Dry_sow[parity4] = 2.42

Dry_sow/[parity5](t) = Dry_sow[parity5](t - dt) + (to_Dry_sow[parity5] -

Dry_sow_to_sowherd[parity5] - to_Cull_dry_sow[parity5]) * dt
INIT Dry_sow([parity5] = 1.85

Dry_sow[parity6](t) = Dry_sow[parity6](t - dt) + (to_Dry_sow[parity6] -

Dry_sow_to_sowherd[parity6] - to_Cull_dry_sow[parity6]) * dt
INIT Dry_sow|[parity6] = 1.43

Dry_sow[parity7](t) = Dry_sow|[parity7](t - dt) + (to_Dry_sow[parity7] -

Dry_sow_to_sowherd[parity7] - to_Cull_dry_sow[parity7]) * dt
INIT Dry_sow][parity7] = 1.03

Dry_sow[parity8](t) = Dry_sow[parity8](t - dt) + (to_Dry_sow[parity8] -

Dry_sow_to_sowherd[parity8] - to_Cull_dry_sow[parity8]) * dt
INIT Dry_ Sow[parity8] = 0.26

INFLOWS:

to_Dry_sow[parity] = CONVEYOR OUTFLOW

OUTFLOWS:



Dry_sow_to_sowherd[parity] = Dry_sow/[parity]
to_Cull_dry_sow[parityO] = to_dry_sow__F5_LW_GGP|[parity0]*0.1259
to_Cull_dry_sow[parityl] = to_dry_sow__F5_LW_GGP[parity1]*0.1259
to_Cull_dry_sow[parity2] = to_dry_sow__F5_LW_GGP|[parity2]*0.1259
to_Cull_dry_sow][parity3] = to_dry_sow__F5_LW_GGP[parity3]*0.1259
to_Cull_dry_sow][parity4] = to_dry_sow__F5_LW_GGP[parity4]*0.1259
to_Cull_dry_sow][parity5] = to_dry_sow__F5_LW_GGP[parity5]*0.1259
to_Cull_dry_sow|[parity6] = to_dry_sow__F5_LW_GGP[parity6]*0.1259
to_Cull_dry_sow|[parity7] = to_dry_sow__F5_LW_GGP[parity7]*0.1259
to_Cull_dry_sow|[parity8] = to_dry_sow__F5_LW_GGP[parity8]*1

Gestation_16_wk[parity0](t) = Gestation_16_wk[parity0](t - dt) +

(to_Gestation_16_wk[parityO] - Delivered_sow[parityO] - Leakage3[parity0]) * dt
INIT Gestation_16_wk[parity0] = 7.4

Gestation_16_wk|[parity1](t) = Gestation_16_wk[parity1](t - dt) +

(to_Gestation_16_wk[parityl] - Delivered_sow[parityl] - Leakage3[parity1]) * dt
INIT Gestation_16_wk[parityl] = 4.92

Gestation_16_wk[parity2](t) = Gestation_16_wk[parity2](t - dt) +

(to_Gestakion=16_wk|[parity2] - Delivered_sow[parity2] - Leakage3[parity2]) * dt
INIT Gestation_16_wk][parity2] = 4.04

Gestation_16_wk[parity3](t) = Gestation_16_wk[parity3](t - dt) +

(to_Gestation_16_wk[parity3] - Delivered_sow[parity3] - Leakage3[parity3]) * dt
panty parity geolparity
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INIT Gestation_16_wk[parity3] = 3.29

Gestation_16_wk[parity4](t) = Gestation_16_wk[parity4](t - dt) +

(to_Gestation_16_wk[parity4] - Delivered_sow|[parity4] - Leakage3[parity4]) * dt
INIT Gestation_16_wk|[parity4] = 2.58

Gestation_16_wk[parity5](t) = Gestation_16_wk[parity5](t - dt) +

(to_Gestation_16_wk[parity5] - Delivered_sow[parity5] - Leakage3[parity5]) * dt
INIT Gestation_16_wk[parity5] = 1.98

Gestation_16_wk[parity6](t) = Gestation_16_wk[parity6](t - dt) +

(to_Gestation_16_wk([parity6] - Delivered_sow[parity6] - Leakage3[parity6]) * dt
INIT Gestation_16_wk[parity6] = 1.53

Gestation_16_wk[parity7](t) = Gestation_16_wk[parity7](t - dt) +

(to_Gestation_16_wk[parity7] - Delivered_sow[parity7] - Leakage3[parity7]) * dt
INIT Gestation_16_wk[parity7] = 1.1

Gestation_16_wk[parity8](t) = Gestation_16_wk[parity8](t - dt) +

(to_Gestation_16_wk[parity8] - Delivered_sow[parity8] - Leakage3[parity8]) * dt
INIT Gestation_16_wk[parity8] = 0.27
INFLOWS:

to_Gestation_16_wk|[parity] = CONVEYOR OUTFLOW

- <

OUTFLOWS:

Delivered_sow[parity] = Gestation_16_wk[parity]

Leakage3[parity] = Gestation_16_wk|[parity]*Pseudo_preqnant_rate
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Gestation_1_to_3_wk[parity0](t) = Gestation_1_to_3_wk[parity0](t - dt) +
(to_Gestation_1_to_3_wk([parity0] - to_Gestation_4_to_15_wk|[parity0] -

Leakage_1[parity0]) * dt

INIT Gestation_1_to_3_wk|[parityO] = 8.16,8.16,8.16
TRANSIT TIME = 3
INFLOW LIMIT = INF
CAPACITY = INF

Gestation_1_to_3_wk[parity1](t) = Gestation_1_to_3_wk[parity1](t - dt) +
(to_Gestation_1_to_3_wk[parityl] - to_Gestation_4_to_15_wk[parityl] -

Leakage_1[parity1]) * dt

INIT Gestation_1_to_3_wk[parityl] = 5.43,5.43,5.43
TRANSIT TIME = 3
INFLOW LIMIT = INF

CAPACITY = INF

Gestation_1_to_3_wk[parity2](t) = Gestation_1_to_3_wk[parity2](t - dt) +

(to_Gestation_1_to_3_wk[parity2] - to_Gestation_4_to_15_wk[parity2] -

Leakage_1[parity2]) * dt

INIT Gestation_1_to_3_wk[parity2] = 4.46,4.46,4.46
TRANSIT TIME = 3
INFLOW LIMIT = INF

CAPACITY = INF
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Gestation_1_to_3_wk[parity3](t) = Gestation_1_to_3_wk[parity3](t - dt) +

(to_Gestation_1_to_3_wk([parity3] - to_Gestation_4_to_15_wk|[parity3] -

Leakage_1[parity3]) * dt

INIT Gestation_1_to_3_wk[parity3] = 3.64,3.64,3.64
TRANSIT TIME = 3
INFLOW LIMIT = INF
CAPACITY = INF

Gestation_1_to_3_wk[parity4](t) = Gestation_1_to_3_wk[parity4](t - dt) +

(to_Gestation_1_to_3_wk[parity4] - to_Gestation_4_to_15_wk[parity4] -

Leakage_1[parity4]) * dt

INIT Gestation_1_to_3_wk[parity4] = 2.85,2.85,2.85
TRANSIT TIME = 3
INFLOW LIMIT = INF
CAPACITY = INF

Gestation_1_to_3_wk[parity5](t) = Gestation_1_to_3_wk[parity5](t - dt) +

(to_Gestation_1_to_3_wk[parity5] - to_Gestation_4_to_15_wk[parity5] -

Leakage_1[parity5]) * dt

INIT Gestation_1_to_3_wk[parity5] = 2.19,2.19,2.19
‘ ‘. -
TRANSIT TIME = 3

INFLOW LIMIT = INF

CAPACITY = INF
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Gestation_1_to_3_wk[parity6](t) = Gestation_1_to_3_wk[parity6](t - dt) +

(to_Gestation_1_to_3_wk[parity6] - to_Gestation_4_to_15_wk[parity6] -

Leakage_1[parity6]) * dt

INIT Gestation_1_to_3_wk[parity6] = 1.69,1.69,1.69
TRANSIT TIME = 3
INFLOW LIMIT = INF
CAPACITY = INF

Gestation_1_to_3_wk[parity7](t) = Gestation_1_to_3_wk[parity7](t - dt) +

(to_Gestation_1_to_3_wk[parity7] - to_Gestation_4_to_15_wk[parity7] -

Leakage_1[parity7]) * dt

INIT Gestation_1_to_3_wk[parity7] = 1.22,1.22,1.22
TRANSIT TIME = 3
INFLOW LIMIT = INF .

CAPACITY = INF

Gestation_1_to_3_wk[parity8](t) = Gestation_1_to_3_wk[parity8](t - dt) +

(to_Gestation_1_to_3_wk[parity8] - to_Gestation_4_to_15_wk[parity8] -

Leakage_1[parity8]) * dt

INIT Gestation_1_to_3_wk[parity8] = 0.3,0.3,0.3
“TRANSIT TIME = 3
INFLOW LIMIT = INF
CAPACITY = INF

INFLOWS:
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to_Gestation_1_to_3_wk[parity] = Sowherd[parity]

OUTFLOWS:

to_Gestation_4_to_15_wk[parity] = CONVEYOR OUTFLOW
Leakage_1[parity] = LEAKAGE OUTFLOW
LEAKAGE FRACTION = (5+0.125*3)/100
NO-LEAK ZONE = 0

Gestation_4_to_15_wk[parity0](t) = Gestation_4_to_15_wk[parity0](t - dt) +
(to_Gestation_4_to_15_wk[parity0] - to_Gestation_16_wk[parity0] - Leakage2[parity0O])
* dt

INIT Gestation_4_to_15_wk[parity0] =

7.72,7.72,7.72,7.72,7.72,7.72,7.72,7.72,7.72,7.72,7.72,7.72
TRANSIT TIME = 12
INFLOW LIMIT = INF
CAPACITY = INF

Gestation_4_to_15_wk[parity1](t) = Gestation_4_to_15_wk[parity1](t - dt) +
(to_Gestation_4_to_15_wk[parityl] - to_Gestation_16_wk[parityl] - Leakage2[parity1])
*dt

INIT Gestation_4_to_15_wk[parityl] =

5.14,5.¥4.8.14,5.14,5.14,5.14,5.14,5.14,5.14,5.14,5.14,5.14
TRANSIT TIME = 12
INFLOW LIMIT = INF

CAPACITY = INF
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Gestation_4_to_15_wk[parity2](t) = Gestation_4_to_15_wk([parity2](t - dt) +
(to_Gestation_4_to_15_wk[parity2] - to_Gestation_16_wk[parity2] - Leakage2[parity2])
*dt

INIT Gestation_4_to_15_wk[parity2] =

4.22,4.22,4.22,4.22,4.22,4.22,4.22,4.22,4.22,4.22,4.22,4.22
TRANSIT TIME = 12
INFLOW LIMIT = INF
CAPACITY = INF

Gestation_4_to_15_wk([parity3](t) = Gestation_4_to_15_wk[parity3](t - dt) ®
(to_Gestation_4_to_15_wk[parity3] - to_Gestation_16_wk[parity3] - Leakage2[parity3])
* dt

INIT Gestation_4_to_15_wk][parity3] =

4.22,4.22,4.22,4.22,4.22,4.22,4.22,4.22,4.22,4.22,4.22,4.22
TRANSIT TIME = 12
INFLOW LIMIT = INF
CAPACITY = INF

Gestation_4_to_15_wk[parity4](t) = Gestation_4_to_15_wk[parity4](t - dt) +
(to_Gestation_4_to_15_wk[parity4] - to_Gestation_16_wk[parity4] - Leakage2[parity4])
* dt

& -

INIT Gestation_4_to_15_wk([parity4] =

2.69,2.69,2.69,2.69,2.69,2.69,2.69,2.69,2.69,2.69,2.69,2.69
TRANSIT TIME = 12

INFLOW LIMIT = INF
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CAPACITY = INF

Gestation_4_to_15_wk[parity5](t) = Gestation_4_to_15_wk[parity5](t - dt) +

(to_Gestation_4_to_15_wk[parity5] - to_Gestation_16_wk|[parity5] - Leakage2(parity5])
*dt

INIT Gestation_4_to_15_wk[parity5] =

2.07,2.07,2.07,2.07,2.07,2.07,2.07,2.07,2.07,2.07,2.07,2.07
TRANSIT TIME = 12
INFLOW LIMIT = INF

CAPACITY = INF

Gestation_4_to_15_wk[parity6](t) = Gestation_4_to_15_wk[parity6](t - dt) +

(to_Gestation_4_to_15_wk[parity6] - to_Gestation_16_wk[parity6] - Leakage2[parity6])
* dt

INIT Gestation_4_to_15_wk([parity6] =

1.6,1.6,1.6,1.6,1.6,1.6,1.6,1.6,1.6,1.6,1.6,1.6
TRANSIT TIME = 12
INFLOW LIMIT = INF

CAPACITY = INF

Gestation_4_to_15_wk[parity7](t) = Gestation_4_to_15_wk[parity7](t - dt) +
(to_Gestation- 4_to_15_wk[parity7] - to_Gestation_16_wk[parity7] - Leakage2[parity7])
*dt

INIT Gestation_4_to_15_wk[parity7] =

1.15,1.15,1.15,1.15,1.15,1.15,1.15,1.15,1.15,1.15,1.15,1.15

TRANSIT TIME = 12
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INFLOW LIMIT = INF
CAPACITY = INF

Gestation_4_to_15_wk[parity8](t) = Gestation_4_to_15_wk[parity8](t - dt) +
(to_Gestation_4_to_15_wk[parity8] - to_Gestation_16_wk[parity8] - Leakage2[parity8])
* dt

INIT Gestation_4_to_15_wk|[parity8] =

0.29,0.29,0.29,0.29,0.29,0.29,0.29,0.29,0.29,0.29,0.29,0.29
TRANSIT TIME = 12
MOW LIMIT = INF
CAPACITY = INF
INFLOWS:
to_Gestation_4_to_15_wk[parity] = CONV EYQR OUTFLOW
OUTFLOWS:
Leakage2[parity] = LEAKAGE OUTFLOW
LEAKAGE FRACTION = Leakage_2_rate
NO-LEAK ZONE = 0
to_Gestation_16_wk[parity] = CONVEYOR OUTFLOW

Gestatiom._leakage[parity](t) = Gestation_leakage[parity](t - dt) + (Leakage_1[parity] +
Leakage2[parity] + Leakage3[parity] - Remate_to_sowherd[parity] -
Pseudo_preqnant_to_sowherd[parity] - to_Cull_gestation[parity] -

to_Abortion_delay[parity]) * dt

INIT Gestation_leakage|[parity] = O
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INFLOWS:
Leakage_1[parity] = LEAKAGE OUTFLOW
LEAKAGE FRACTION = (5+0.125*3)/100
NO-LEAK ZONE = 0
Leakage2[parity] = LEAKAGE OUTFLOW
LEAKAGE FRACTION = Leakage_2_rate
NO-LEAK ZONE = 0
Leakage3([parity] = Gestation_16_wk[parity]*Pseudo_preqnant_rate
OUTFLOWS:

Remate_to_sowherd[parity] =
(Leakage_1[parity]*Leakagel_to_remate_rate)+(IF(Leakage_2_rate=0.042)THEN(Leaka
ge2([parity]*Leakage2_to_remate_rate_normal )ELSE(Leakage2[parity]*Leakage2_to_emate
_rate_shock))

Pseudo_preqgnant_to_sowherd[parity] = Leakage3[parity]
to_Cull_gestation[parity] = Gestation_leakage[parity]

to_Abortion_delay|[parity] =
IF(Leakage_2_rate=0.042)THEN(Leakage 2[parity]* Abortion_normal )ELSE(Leakage2[pa

rity]* Abortion_shock)

- &

Gilts_34_wk(t) = Gilts_34_wk(t - dt) + (to_Gilt_34_wk -

Cull_gilt_to_fattening_15%_34_wk - Gilts_to_replacement_85%) * dt
INIT Gilts_34_wk = 28.02,28.02,28.02,28.02,28.02,28.02,28.02,28.02

TRANSIT TIME = 8
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INFLOW LIMIT = INF
CAPACITY = INF
INFLOWS:
to_Gilt_34_wk = CONVEYOR OUTFLOW
OUTFLOWS:
Cull_gilt_to_fattening_15%_34_wk = LEAKAGE OUTFLOW
LEAKAGE FRACTION = 0.15
NO-LEAK ZONE = 0
Gilts_to_replacement_85% = CONVEYOR OUTFLOW

Gilt_19_wk(t) = Gilt_19_wk(t - dt) + (to__Gilt_19_wk - to_Cull_giltl -
to_Gilt_20_wk) * dt

INIT Gilt_19_wk =
109.09,109.09,109.09,109.09,109.09,109.09,109.09,109.09,109.09,109.09,109.
09,109.09,109.09,109.09,109.09

TRANSIT TIME = 15

INFLOW LIMIT = INF

CAPACITY = INF
INFLOWS: < .
to__Gilt_19_wk = Wean_pool*Sex_ratio_Gilt_per_Boar
OUTFLOWS:

to_Cull_giltl = LEAKAGE OUTFLOW



LEAKAGE FRACTION = 3.7/100
NO-LEAK ZONE = 0
to_Gilt_20_wk = CONVEYOR OUTFLOW

Gilt_20_wk(t) = Gilt_20_wk(t - dt) + (to_Gilt_20_wk - Gilt_fattening -

Grading_gilt_to_GGP - Grading_gilt_to_GP_another_farm) * dt
INIT Gilt_20_wk = 104.35

INFLOWS:

to_Gilt_20_wk = CONVEYOR OUTFLOW

OUTFLOWS:

Gilt_fattening = to_Gilt_20_wk*Breeding_value_fattening

Grading_gilt_to_GGP = (to_Gilt_20_wk*Grading_gilt_GGP_and_GP_rate)-

Replacement_to_GP_another_farm_rate
Grading_gilt_to_GP_another_farm = Replacement_to_GP_another_farm_rate

Gilt_26_wk(t) = Gilt_26_wk(t - dt) + (Grading_gilt_to_GGP - to_Cull_gilt_2 -
to_Gilt_34_wk) * dt

INIT Gilt_26_wk = 32.06,32.06,32.06,32.06,32.06,32.06
TRANSIT TIME = 6
INFEOW.LIMIT = INF
CAPACITY = INF

INFLOWS:
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Grading_gilt_to_GGP = (to_Gilt_20_wk*Grading_gilt_ GGP_and_GP_rate)-

Replacement_to_GP_another_farm_rate

OUTFLOWS:

to_Cull_gilt_2 = LEAKAGE OUTFLOW
LEAKAGE FRACTION = 13/(100-3.7)
NO-LEAK ZONE = 0

to_Gilt_34_wk = CONVEYOR OUTFLOW

Lactation[parity0](t) = Lactation[parityO](t - dt) + (Delivered_sow[parityO] -

to_Cull_lactation[parity0] - to_Dry_sow[parity0]) * dt
INIT Lactation[parity0] = 7.35,7.35

TRANSIT TIME = 2

INFLOW LIMIT = INF

CAPACITY = INF

Lactation[parity1](t) = Lactation[parity1](t - dt) + (Delivered_sow[parity1] -

to_Cull_lactation[parity1] - to_Dry_sow[parityl]) * dt
INIT Lactation[parityl] = 4.89,4.89

TRANSIT TIME = 2

INFLOW LIMIT = INF

CAPACITY = INF

Lactation[parity2](t) = Lactation[parity2](t - dt) + (Delivered_sow[parity2] -

to_Cull_lactation[parity2] - to_Dry_sow[parity2]) * dt
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INIT Lactation[parity2] = 4.01,4.01
TRANSIT TIME = 2
INFLOW LIMIT = INF
CAPACITY = INF

Lactation[parity3](t) = Lactation[parity3](t - dt) + (Delivered_sow[parity3] -

to_Cull_lactation[parity3] - to_Dry_sow[parity3]) * dt
INIT Lactation[parity3] = 3.27,3.27

TRANSIT TIME = 2

INFLOW LIMIT = INF

CAPACITY = INF

Lactation[parity4](t) = Lactation[parity4](t - dt) + (Delivered_sow|[parity4] -

to_Cull_lactation[parity4] - to_Dry_sow[parity4]) * dt
INIT Lactation[parity4] = 2.56,2.56

TRANSIT TIME = 2

INFLOW LIMIT = INF

CAPACITY = INF

Lactation[parity5](t) = Lactation[parity5](t - dt) + (Delivered_sow[parity5] -

to_Cull_latation[parity5] - to_Dry_sow[parity5]) * dt
INIT Lactation[parity5] = 1.97,1.97
TRANSIT TIME = 2

INFLOW LIMIT = INF
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CAPACITY = INF

Lactation[parity6](t) = Lactation[parity6](t - dt) + (Delivered_sow[parity6] -

to_Cull_lactation[parity6] - to_Dry_sow[parity6]) * dt
INIT Lactation[parity6] = 1.52,1.52

TRANSIT TIME = 2

INFLOW LIMIT = INF

CAPACITY = INF

Lactation[parity7](t) = Lactation[parity7](t - dt) + (Delivered_sow[parity7] -

to_Cull_lactation[parity7] - to_Dry_sow[parity7]) * dt
INIT Lactation[parity7] = 1.09,1.09

TRANSIT TIME = 2

INFLOW LIMIT = INF

CAPACITY = INF

Lactation[parity8](t) = Lactation[parity8](t - dt) + (Delivered_sow[parity8] -

to_Cull_lactation[parity8] - to_Dry_sow[parity8]) * dt
INIT Lactation[parity8] = 0.27,0.27

TRANSIT TIME = 2

INFLOW LIMIT = INF

CAPACITY = INF
INFLOWS:

Delivered_sow|[parity] = Gestation_16_wk[parity]
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OUTFLOWS:

to_Cull_lactation[parity] = LEAKAGE OUTFLOW
LEAKAGE FRACTION = 0.057
NO-LEAK ZONE = 0

to_Dry_sow[parity] = CONVEYOR OUTFLOW

Replacement_gilt(t) = Replacement_gilt(t - dt) + (Gilts_to_replacement_85% -

Replacement_gilt_to_GGP - Replacement_gilt_to_GP) * dt
INIT Replacement_gilt = O

INFLOWS:

Gilts_to_replacement_85% = CONVEYOR OUTFLOW
OUTFLOWS:

Replacement_gilt_to_GGP = Repla.cement_gilt_rate_to_GGP
Replacement_gilt_to_GP = Repiacement_gi]t_rate_to_GP

Sowherd[parity0](t) = Sowherd[parity0](t - dt) + (Remate_to_sowherd[parity0] +
Pseudo_preqnant_to_sowherd[parityO] + to_Sow_herd[parityO] +

Abortion_to_sowherd[parity0] - to_Gestation_1_to_3_wk[parity0]) * dt

INIT Sowherd[parityO] = 7.5

Sowherd[parity1](t) = Sowherd[parity1](t - dt) + (Remate_to_sowherd[parity1] +
Pseudo_preqnant_to_sowherd[parityl] + to_Sow_herd[parity1] +

Abortion_to_sowherd[parityl] - to_Gestation_1_to_3_wk([parity1]) * dt

INIT Sowherd[parityl] = 4.99
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Sowherd([parity2](t) = Sowherd[parity2](t - dt) + (Remate_to_sowherd([parity2] +

Pseudo_preqnant_to_sowherd[parity2] + to_Sow_herd[parity2] +

Abortion_to_sowherd[parity2] - to_Gestation_1_to_3_wk[parity2]) * dt
INIT Sowherd[parity2] = 4.1

Sowherd[parity3](t) = Sowherd[parity3](t - dt) + (Remate_to_sowherd([parity3] +
Pseudo_preqnant_to_sowherd[parity3] + to_Sow_herd[parity 3] +

Abortion_to_sowherd[parity3] - to_Gestation_1_to_3_wk[parity3]) * dt
INIT Sowherd|[parity3] = 3.34

Sowherd([parity4](t) = Sowherd[parity4](t - dt) + (Remate_to_sowherd[parity4] +
Pseudo_preqnant_to_sowherd[parity4] + to_Sow_herd[parity4] +

Abortion_to_sowherd[parity4] - to_Gestation_1_to_3_wk[parity4]) * dt
INIT Sowherd[parity4] = 2.62

“Sowherd[parity5](t) = Sowherd[parity5](t - dt) + (Remate_to_sowherd[parity5] +
Pseudo_preqnant_to_sowherd[parity5] + to_Sow_herd[parity5] +

Abortion_to_sowherd[parity5] - to_Gestation_1_to_3 wk[parity5]) * dt

INIT Sowherd[parity5] = 2.01

Sowherd[parity6](t) = Sowherd[parity6](t - dt) + (Remate_to_sowherd[parity6] +
Pseudo_preqnant_to_sowherd[parity6] + to_Sow_herd[parity6] +

Abortion_to_sowherd[parity6] - to_Gestation_1_to_3 wk[parity6]) * dt

INIT Sowherd[parity6] = boar_11_wk_FNP_2X_ LW

Sowherd[parity7](t) = Sowherd[parity7](t - dt) + (Remate_to_sowherd[parity7] +
Pseudo_preqnant_to_sowherd[parity7] + to_Sow_herd[parity7] +

Abortion_to_sowherd[parity7] - to_Gestation_1_to_3 wk[parity7]) * dt

INIT Sowherd[parity7] = 1.12
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Sowherd[parity8](t) = Sowherd[parity8](t - dt) + (Remate_to_sowherd[parity8] +
Pseudo_preqnant_to_sowherd[parity8] + to_Sow_herd[parity8] +
Abortion_to_sowherd([parity8] - to_Gestation_1_to_3_wk[parity8]) * dt

INIT Sowherd[parity8] = 0.28

INFLOWS:

Remate_to_sowherd[parity] =

(Leakage_1[parity]*Leakagel_to_remate_rate )+(IF(Leakage_2_rate=0.042)THEN(Leaka
ge2[parity]*Leakage2_to_remate_rate_normal )ELSE(Leakage2[parity]*Leakage2_to_emate
_rate_shock))

Pseudo_preqnant_to_sowherd[parity] = Leakage3[parity]
to_Sow_herd[parity0] = Replacement_gilt_to_GGP
to_Sow_herd[parityl] = Dry_sow_to_sowherd[parityO]*Sow_herd_rate
to_Sow_herd[parity2] = Dry_sow_to_sowherd[parity1]*Sow_herd_rate
to_.Sow_herd[parity3] = Dry_sow_to_sowherd[parity2]*Sow_herd_rate
to_Sow_herd[parity4] = Dry_sow_to_sowherd[parity3]*Sow_herd_rate
to_Sow_herd[parity5] = Dry_sow_to_sowherd[parity4]*Sow_herd_rate
to_Sow_herd[parity6] = Dry_sow_to_sowherd[parity5]*Sow_herd_rate

to_Sow_herd[parity7] = Dry_sow_to_sowherd[parity6]*Sow_herd_rate

& &

to_Sow_herd[parity8] = Dry_sow_to_sowherd[parity7]*Sow_herd_rate

Abortion_to_sowherd[parity] = DELAY((Abortion_delay1|[parity]-

to_Abortion[parity]),5,0)

OUTFLOWS:
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to_Gestation_1_to_3_wk[parity] = Sowherd[parity]

Wean_pool(t) = Wean_pool(t - dt) + (to_Wean_pool[parity] + to_Wean_pool[parity0] +
to_Wean_pool[parityl] + to_Wean_pool[parity2] + to_Wean_pool[parity3] +
to_Wean_pool[parity4] + to_Wean_pool[parity5] + to_Wean_pool[parity6] +
to_Wean_pool[parity7] + to_Wean_pool[parity8] - to_Boar_11_wk - to__Gilt_19_wk) *
dt

INIT Wean_pool = 218.17

INFLOWS:

to_Wean_pool[parity] = CONVEYOR OUTFLOW

OUTFLOWS:

to_Boar_11_wk = Wean_pool*(1-Sex_ratio_Gilt_per_Boar)
to__Gilt_19_wk = Wean_pool*Sex_ratio_Gilt_per_Boar
Abortion_normal = 0.125

Breeding_value_fattening = 0.55

F2_LW_GP_sow_cull_rate = 0.768

F2_Replacement_Ratel = (((1018*F2_LW_GP_sow_cull_rate)/52))

F2_Replacement_Rate2 = (((sow_on_GP_another_farm*F2_LW_GP_sow_cull_rate)/52))

GGP_I{gplq.cement_Rate 1 (Sow_on_F5_LW_GGP*GGP_sow_cull_rate)/52

GGP_Replacement_Rate2

(573*GGP_sow_cull_rate) /52
GGP_sow_cull_rate = 0.717

GP_Replacement_ratel = ((509*GP_sow_cull_rate)/52)



GP_Replacement_Rate2 = ((Sow_on_F5_LW_GP*GP_sow_cull_rate)/52)
GP_sow_cull_rate = 0.747

Grading_gilt_ GGP_and_GP_rate = 1-Breeding_value_fattening
Leakagel _to_remate_rate = 0.93
Leakage2_to_remate_rate_normal = 0.5

NBA([parityO] = 9.2

NBA[parityl] = 10.00

NBA[parity2] = 10.30

NBA([parity3] = 10.50

NBA[parity4] = 10.20

NBA[parity5] = 9.90

NBA[parity6] = 9.80

NBA[parity7] = 9.70

NBA[parity8] = 10.7

Normal_abortion_cull = 0

Pseudo_preqnant_rate = (0.625)/100

Replacementgilt_rate_to_GGP =

MIN(GGP_Replacement_Rate1,GGP_Replacement_Rate2)
Replacement_gilt_rate_to_GP = MIN(GP_Replacement_Rate2 ,GP_Replacement_rate1)

Replacement_to_GP_another_farm_rate =

MIN(F2_Replacement_Rate2 ,F2_Replacement_Rate1)

98



99

Sex_ratio_Gilt_per_Boar = 0.5
Shock_abortion_cull = 0.23
Sow_herd_rate = 0.90

Sow_on_F5 LW_GGP =
ARRAYSUM(Sowherd[*])+ARRAYSUM(Gestation_1_to_3_wk[*])+ARRAYSUM(Gestat

ion_4_to_15_wk[*])+ARRAYSUM(Abortion_to_sowherd[*])+ARRAYSUM(Abortion_to_
sowherd2[*])
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